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QUESTION 1

When the source of a Financial Transaction is canceled, what does it result in? 

A. The source Financial Transaction is deleted and a new reversal Financial Transaction is created. 

B. A new reversal Financial Transaction is created. 

C. The source Financial Transaction status is changed to "Canceled". 

D. The source Financial Transaction is deleted. 

E. No change occurs. 

Correct Answer: A 

 

QUESTION 2

What contains the details of how a bill was calculated and how it will be printed on a bill? 

A. Calculation Rules 

B. Rate Schedule 

C. Service Agreement 

D. Bill Segments 

E. Bill 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E73180_01/PDF/4.2.2.2%20CCB.v2.5.Manage%20Meter% 20Charges.pdf 

 

QUESTION 3

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 

 

QUESTION 4

Latest 1Z0-996 Dumps | 1Z0-996 PDF Dumps | 1Z0-996 VCE Dumps                                2 / 7

https://www.pass4itsure.com/1z0-996.html
https://www.pass4itsure.com/1z0-996.html
https://www.pass4itsure.com/1z0-996.html


https://www.pass4itsure.com/1z0-996.html
2024 Latest pass4itsure 1Z0-996 PDF and VCE dumps Download

On which three entities can proration be disabled? (Choose three.) 

A. Calculation Rule Business Object 

B. Bill Factor 

C. Calculation Rule 

D. Rate Version Calculation Group 

E. Rate Schedule 

Correct Answer: ADE 

 

QUESTION 5

How many derived values can a final measurement have in addition to the primary measured value? 

A. 2 

B. 15 

C. 10 

D. 5 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (80) 

 

QUESTION 6

Which two are "Are SP and Device Ready?" state algorithms for Enable Service? (Choose two.) 

A. Customer Device Compatibility Check 

B. Create Service Point 

C. Check for Measurement 

D. Create Usage Subscription 

E. Start Service Agreement 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf 

(17 and 21) 

 

QUESTION 7
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As part of the service order processing, the algorithm D1-CNSPINSDV (Connect SP and/or Install Device) determines if
a specific activity needs to be created based on the state of the service point. 

Based on the status of the service point, what can this algorithm create? 

A. Device 

B. Device Configuration 

C. Smart Meter Command 

D. Service Point 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf 

(18) 

 

QUESTION 8

At what stage in the initial measurement data (IMD) import process will the application of meter multipliers be
performed? 

A. Critical Validation 

B. VEE 

C. Prepare for VEE 

D. post-VEE 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf(78) 

 

QUESTION 9

What correctly describes the possible causes of price proration? 

A. change in Bill Factor only 

B. changes in Rate Schedule and Bill Factor only 

C. change in Rate Schedule only 

D. change in Rate Version Calculation Group only 

E. changes in Rate Version Calculation Group and Bill Factor only 

Correct Answer: B 
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Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18367_V3_01.pdf 

 

QUESTION 10

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.) 

A. Usage is a synonym for bill determinants. 

B. The initial measurement data can be optionally stored in Raw format. 

C. A service point can have more than one initial measurement for the same period, but only one final measurement. 

D. Final measurements can be directly edited or updated by users or by automated processes as required. 

E. Usage is loaded in the application to generate final measurements. 

Correct Answer: CDE 

 

QUESTION 11

How many devices can be installed at a service point at an instance in time? 

A. exactly one device 

B. up to three devices 

C. one for each service type 

D. one for each measuring component 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E80256_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_0.pdf 

 

QUESTION 12

Throughout its lifecycle, an asset\\'s disposition changes as it is moved between locations and service statuses. 

Which are valid asset dispositions? 

A. Receiving; Installed; Storage; Retired 

B. In Receipt; In Field; In Stores; Retired 

C. In Receipt; Installed; In Stores; Retired 

D. Receiving; In Field; Storage; Retired 

Correct Answer: B 
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QUESTION 13

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 

 

QUESTION 14

Within the application, operational devices can be assets or components. 

Which two statements are true about components? (Choose two.) 

A. Components are attached to assets. 

B. Components have a disposition that tracks their location and status. 

C. Components can be installed at locations. 

D. Components are not a class of assets. 

E. Components can\\'t have specifications. 

Correct Answer: AC 

 

QUESTION 15

Critical validation rules verify the integrity of the initial measurement data (IMD). If an implementation needs to add new
critical validations, where would you configure them? 

A. as new lifecycle algorithms on the IMD Seeder BO (D1-IMDSeeder) 

B. in the pre-processing algorithm of the IMD Seeder BO (Dl-IMDSeeder) 

C. as options on the IMD Seeder BO (D1-IMDSeeder) 

D. in the schema of the IMD Seeder BO (D1-IMDSeeder) 

E. in the validation algorithm on the IMD Seeder BO (D1-IMDSeeder) 
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Correct Answer: B 
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